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According to Kohlberg’s moral development theory, “Morality
of self-accepted principles” is exhibited at this level

1.
2.
3.
4.

Conventional morality
Pre- Conventional morality
Post- Conventional morality

Natural happiness adaptation level
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If a child is having subnormal intelligence he will possess

1.
2.
3.
4,

high level ability to solve problems
Matured social behaviour
Low level creative and imaginative powers

high level creative and imaginative powers
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The overlapping stage of development is

PR DD =0T >

The last years of later childhood stage

The beginning years of adolescence

One of the two phases of fast growth in individual’s life
A only

B only

A and B only
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The physical development, language development, intellectual
development takes place in a definite sequence. This applies to
the following principle of development.

1.
2.
3.
4.

Pattern
Direction
Integration

Interaction
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In this phase of writing development proposed by Kroll,
children begin to consolidate spoken and written language

1.
2.
3.
4.

First phase
Second phase
Third phase
Fourth phase

525 (Kroll) (3B S35 IS &s $535° bow
Srers $o0a50 80D (IF70) &ras Diso Banheo

(EHID.

1. iMoo lnt:]
2. TO&ES &%

3. OTES &SF
4. QS ¥



‘Army alpha’ test is a

1.
2.
3.
4.

Verbal, group test of Intelligence
Non-verbal, group test of Intelligence
Verbal, individual test of Intelligence

Non-verbal, individual test of Intelligence
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The number of test items that the test of Abstract Reasoning of
DAT (Differential Aptitude Test) contains
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1
2.
3.
4

40
60
50
100

The interest of the student extracted by questioning the student

1.
2.
3.
4.

expressed
implicit
stated
hided
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10.

If a person denotes only one suitable solution by using the
available data, the thinking is

1. Convergent thinking

2. Divergent thinking

3. logical thinking

4. Imaginative thinking
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Among blocks to creativity, ‘emphasis on obedience’ comes
under this category

1. Perceptional blocks

2. Intellectual blocks

3. Emotional blocks

4. Cultural blocks
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12.

If Ram is taller than Mohan, and Mohan is taller than Sohan,
Ram is the tallest. This type of Reasoning is

1. Categorical
2. Conditioned
3. Inductive

4. Linear

oo IS 557 e 90NV, DO IR FeQ 5
T WONB, T°R WOLSBET) FediH. 3D TEFS IBST0

1. 58853
N
2. BEe508° ErE&S
3. €330
4, DEY

According to Jung, the persons having the nature to get along
with everyone belong to this category

l. Introverts

2 Extroverts

3. Leptosomatic
4 Ectomorphic
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One of the following is not an objective test

1.
2.
3.
4.

Interview
Check list
Rating Scale

Personality inventory
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Giving supporting reasons for the unreasonable things done.
This defense mechanism is

1.
2.
3.
4.

Displacement
Projection
Rationalization

Compensation
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16.

Avoidance - Avoidance conflict occurs

1.

Where there are pros and cons between two or more
goals

When the choice between one attractive and another
unattractive goal is necessary

When a choice has to be made between two attractive

goals

When a choice between two unattractive goals is
inevitable.
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The variable which is under the control of the experimentor

1.
2.
3.
4.

Independent Variable
Dependent Variable
Intervening Variable

External Variable
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18.

The Scientist who told about Non-directive method of
interview

1. J.L. Moreno

2. Carl Rogers

3. Cattell

4. Allport
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Incorrect among the following with regard to ‘illusion

1. [lusion is wrong perception

2. [llusion is incorrect interpretation of sensations
3. Taking a wrong meaning of stimulus

4. [1lusion is not related to the stimulus
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20.

The failure to recall information in the absence of memory
cues is called as

1
2.
3.
4

Proactive inhibition
Retrieval failure
Repression

Retroactive inhibition
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Connection between a stimulus and response are strengthened
when they are used. This is Thorndike’s law of

1.

N

3.

4

Exercise
Readiness

Effect
Insight
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22.

The correct pair from the following is

1.
2.
3.
4.

Pavlov - Operant Conditioning
Bandura - Constructivism
Piaget - Theory of Cognitive Development

Kohler - Discovery Learning

808 FAS° ¥BS @8

1.
2.
3.
4.

>585°5 - SESSHAERATat

20878 - Sm&wé&§s°cso

DO - éozs%meﬁ@ﬁ S DTPOLS0
=y @

§°°JC;5- eﬁi);ﬁbdea @25526?60

As per Maslow’s hierarchy of needs, the individual try to
satisfy his ‘Need for Self Respect’ after he has satisfied with

1.

2.
3.
4

Need of self-actualization
Love & Belongingness needs
Safety needs

Physiological needs
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The theory of identical elements regarding transfer of learning
is proposed by

1. E.L. Thorndike
2. Charles Judd
3. Woodworth

4. W.C. Bagle
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The main objective of guidance is

To make a person self-confident

Enhancing adjustment in individual’s behaviour
To enable the individual to make wise decisions
A only

B only

A and B only

. A,Band C
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26.

Non-volatile memory is

1.
2.
3.
4.

RAM — Random Access Memory
MAR — Memory Address Register
ROM — Read only Memory

MDR — Memory Data Register
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Basis for learning

1.
2.
3.
4.

Growth
Personality
Maturity
Effect
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28.

Incorrect statement with regard to co-operative learning
among the following

1.

Ll

It helps students to get on concept clarity through
discussions

Elaborative thinking is promoted
Individual’s success is given priority

Students encourage each other for group success
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The planning phase of teaching is

1.
2.
3.
4.

Interactive phase
Reaction phase
Pre-active phase

Post-active phase
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30.

One of the following is not correct

1.
2.
3.
4.

DVT — Digital Vision Television
DVD - Digital Video Disk

LCD — Liquid Crystal Display
DLP — Digital Light Processing
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CPD s

1. Curricular Project Development

2. Continuous Professional Development
3. Continuous Programme Development
4. Curricular Programme Development
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62.

63.

Einstein got ever more involved in politics agitating for an end
to the arms buildup and using his popularity to campaign for
peace and democracy.

To agitate means to
1. calm

2 settle
3. provoke
4

smooth

I’ve just got to work ..... often harder than classical musicians.
But the rewards are enormous.

Identify the antonym of ‘enormous’ in the context of the
sentence:

1. large

2 tiny

3. wonderful
4

marvelous

The contract by the lawyer before the signing.
Identify the best option that fits the blank.

1. reviewed

2 was reviewed

3. has to reviewed

4 reviews.
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65.

66.

67.

Identify the suffix used to turn a verb into its past tense form:

1.

2.
3.
4

- ing
-er
-ed

- ist

I know the price of the car would cost an arm and a leg, but |
really wanted it.

Identify the option which means ‘cost an arm and a leg’!

1.

2.
3.
4

to be very expensive
to be affordable
Not readily available

to require a lot of time.

The following is NOT a meaning of “make up”.

1.

2.
3.
4

to invent
to reconcile
to resolve

to separate

Identify the word that should be listed last in an alphabetically
ordered dictionary.

1.

2.
3.
4

Apples
Banana
Avocado

Orange



68.

69.

70.

71.

Choose the correctly punctuated sentence with a date.

1. She was born on December 5 2000 in New York City.
2 She was born on December, 5 2000 in New York City.
3. She was born on December 5, 2000 in New York City.
4 She was born, on December 5, 2000 in New York city.

Following the trail, we reached our destination.

Choose the correct compound sentence transformation:

1. We followed the trail, but we reached our destination.

2. We followed the trail and reached our destination.

3. We reached our destination because we followed the
trail.

4. we reached our destination although we followed the
trail.

Identify the grammatically correct sentence:

1. He need a car for his everyday activities.
2 He need a car for his every day activities.
3. He needs a car for his every day activities.
4 He needs a car for his everyday activities.

Choose the sentence that indicates a fact.

1. The water boils at 100 degrees celsius.
2 Please help me with this.

3. Wow, what a game!

4 Are you coming to the Party?
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73.

74.

75.

Identify the correct spelling of the word.

1. accommidate
2 acomodate

3. accommodate
4 acommidate

He said, “It may rain.”

Select the correct indirect form:

1. He said that it may have rain.

2 He said that it might rain.

3. He said that it can rain.

4 He said that it might be raining.

If my parents had not consented to the surgery, my life would
have been different.

Identify the type of conditional sentence in the sentence above:

1. Zero conditional

2 First conditional

3. Second conditional
4 Third conditional

Choose the term that describes someone who is beyond
reform:

1. reputable
2 reformed
3. incorrigible
4

ameliorated
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77.

78.

79.

The children not like working out trigonometry

problems.

1. does
2. did

3. do

4 doing

One of the following is NOT a declarative sentence.

1.

2.
3.
4

The concert starts at 7 PM.
She lives in New York.
How are you today?

They are planning a trip to Europe.

The new software update includes several enhancements.

, it addresses security concerns.

Choose the linker to fit the blank.

1.

2.
3.
4

However
For example
Therefore

In addition

Choose the example where the definite article is used before
the names of certain well-known personalities in position:

1.

2.
3.
4

The Sun sets in the west
The lion is looking ferociously
The President

The goat was all skin and bones
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81.

82.

83.

You take a break if you are feeling tired.

Choose the modal verb to express advice.

1. should
2 would
3. might
4 can

Identify the sentence that correctly uses an adverb to modify
an adjective.

1. The cake was extremely delicious

2 The cake was extreme delicious

3. The cake was delicious

4 The cake was extreme and delicious

Identify the sentence that contains the correct use of a
reflexive pronoun.

1. He gave the gift to myself.

2 She prepared herself for the exam.
3. The cat cleaned it.

4 They bought themself new shoes.

When drafting the body of your speech, it’s important to

Choose the best option.

1. use complex language

2 include multiple unrelated points

3. divide content into key sections or points.
4 Omit transitions between sections
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86.

87.

If a notice requires recipients to take specific actions, it is

important to

Choose the best option.

1.

2
3.
4

mention the name of the notice issuer.
clearly state any deadlines or requirements
include a quote relevant to the notice

provide a detailed history of the organization

Identify the interrogative form of the present perfect tense.

1.

2.
3.
4

Do / Does + Subject + base form of the verb?
Was / were + Subject + verb + ing?

Have / has + Subject + Past participle?

Will + Subject + base form of the verb?

Identify the sentence in the present perfect continuous tense.

1.

2.
3.
4

She was cooked dinner.
They have been visiting their grandparents.
He will finish his homework.

I was reading a book.

your question, the answer is yes.

Choose the correct preposition that fits the blank.

1.

2.
3.
4

With respect to
Because of

Thank to

In view of



88.

&9.

The project was completed the deadline.
Choose the option that fits the blank.

1.

2.
3.
4

in light of

in addition to

in accordance with
in back of

Read the following passage.

Access to healthcare is uneven across India, with disparities
between urban and rural areas. While cities may have
advanced medical facilities, rural regions often lack basic
health services. Public health initiatives aim to improve access
and affordability, but challenges such as infrastructure deficits
and inadequate staffing continue to affect healthcare delivery.

Identify the statement that describes a challenge in rural
healthcare:

1.

2.
3.
4

advanced medical facilities
high - tech equipment
lack of basic health services

excessive funding



90.

Read the following passage.

Access to healthcare is uneven across India, with disparities
between urban and rural areas. While cities may have
advanced medical facilities, rural regions often lack basic
health services. Public health initiatives aim to improve access
and affordability, but challenges such as infrastructure deficits
and inadequate staffing continue to affect healthcare delivery.

Urban areas in India typically have compared to
rural regions.

Choose the option that fits the blank.

1. limited health care facilities
2 advanced medical facilities
3. less healthcare access

4 poor public health intiatives.



91.

92.

Number of three digit numbers that are exactly
divisible by 7 is

7 3 K)'ég?qom GPROT2IG SI°E03e doPge DoPS
1 127
2. 126
3. 128
4 125

A Tangent PA is drawn to the circle with centre ‘O’ through
the point A on the circle and PA=0OA then OP =

‘0’ Solgon Ko )80 p Ko Doty A o 050
PA Roor20éod 558850 PA=0A eonsS OP =

1. 2(0A)
2 V3 (PA)
3. 3(PA)
4 J2(0A)



93.

94.

95.

Curved surface area of a right circular cylinder of height 35cm
is 2420cm” then it’s radius is (in cm)

35 0.0, &Y SOAS 2.5 (55 ST (Do Book),
SES© JTe50 2420:5.20. ©00S T THIL0

(0.2 ©8&°)
1 10
2. 11
3. 12
4 21

ol S

{B-(4)+(2)]x(-2) }+(-5) =

-2
-3
2
3

(Sin*@, — tan *0), (Cos >0, Sec’0) and (-1,0) are the vertices of a
triangle. Then centroid is
(Sin’6, — tan’0), (Cos’0, Sec’0) 085 (-1,0) ev (Bzbezso
B0, Borew ©and KrdHéSolEso

o 2

l.

2.

(0, 0)




96.

97.

98.

The ratio of circumference to diameter of a circle whose radius
1s 23.45cm is

23.45 20.2. F5F0 SO S0 Foo). H0Q $oB0 0
&%), A8,

1. 22:7
2. 229
3. 4:7
4. 17

Two cubes each of volume 117cm’ are joined end to end
together to form a cuboid. Then 4 times of volume of resultant
cuboid is (in cm?)

117 5059 290.25. 905 HDOSTe30 KO BOKD P00 SL0HMT
5gm5m DBYEIO. wonS e ég):»as 205HOITeTIE
4 BE Jeo3 (0.2 08

1 468
2. 579
3. 936
4 117

If a dice is thrown once, then the probability of getting a
number which is prime factor of 6

FDED 2,570 G0N, 6 Bk, (PS S°TEF0E0 5w\
QD0gTHge

T
6
2. 2
6
3. =
2
4 1
3



99.

100.

101.

A problem instead of multiplying a fraction by 3 Raju divide
. .2 .
it by % The answer he got is 3 more than the original answer.

Then the fraction is

2
2.8 K>;5m§e3€ oz 2.8 DI %@6 8303558 xdenie 3
&° PROBID. % POBS BITFGRS0, HOTOS BITFTTVS

53 %Q&ZT;SN’ &N 900 €3 ARG

L2
3
2. 8
5
3. 2
5
g 2
4

Distance between the points (3,2) and (5,—4) is (in units)
(3,2) 508050 (5,—4) Dot 65§ 5380 (A300°0S")

1. 2v10
2. 310
3. 410
4. 32

Which is not a Pythagorean triplet
DR (BES0 2D

1. 12, 16, 20
2. 10, 24, 26
3. 7,24, 25

4. 16, 30, 35



102. Read the following statements and choose the correct answer
(A)  /p+4q is always irrational
(B) \/; X \/E always irrational

(Here p and q are positive integers and non-perfect square
numbers)

1. Both (A) and (B) are true

2. (A) is false and (B) is true

3. (A) is true and (B) is false

4. Both (A) and (B) are false

808 FEgoRy S8 BB VIFEIR) YT od.

(A) P +ig dgRper s8e3as Do
(B)  pxig dgsper soehan 08y

(3%),¢ p OG0 q & FSY°Y HoPgen 0850 HEY°F
SEHoPg 5°R ‘éongezo)

1. (A) 358050 (B) &0 d8g50

2 (A) 6:92695?53533 H8as» (B) 269553533

3. (A) “6653533 8w (B) 6;9269553533

4 (A) 358050 (B) &0 e95e8g5.



103. From well-shuffled deck of 52 cards, if one card is drawn then
the probability of red face card is

IO S00HadS 52 0E Sn¥ o 5§ Sod iy SO
28 58 BVS, 98 AN Sop et @(535 NSbySI

1

13

3

26

12

13

23

26

l.

104. Identify the FALSE statement
1. {x:xeNand(x+2)(x+3)=0} is an empty set
2. {x:x e Z and x > 5}is infinite set

3 {x : x is a positive even integer and x <10} is infinite set
4. {2,4,6810}={x:x=2nn<6,necN}
VLS (DD $o80%506.

1. {x: xeN 38050 (x+2) (x+3) =0} 938 2.8
%5%5 QDS

2. {x: X€Z 508030 x > 51538 908G DD

3. {x:x 2.8 08 &S J°G 260335 8% x <10}
IO 9NOWS DA

4. {2,4,6810}={x:x=2nn<6,necN}



105.

106.

A chord AB of a circle of radius 1 unit is making an angle
120° at the centre ‘O’. Then the area of AAOB is (in sg. units)

1 655 g0 SOAS $)80S° 2.8 &5 AB Bo(gso
‘0’ 5¢5 120° Sea0 Bx08. wowS A AOB B, Progny
(56559 cHrAeS”)

)
' 8
), 3B

3
3, B

4
i B

4

. : 1.
The mean of reciprocal of observations 2 and 5 1s

2 558050 % $88oT0 T DY\, S Dien

15
14
15
7
15
4
15
2

1.



Cot0 —Cosb .

107. If Sinf =, 0° <0 <90° then the value of is
y CotO+CosO

—Cos@
Sin@ =>,0° <0 <90° @OJJ«SM SooE), Jen
y CotO+CosO
| I—xy
Yy
2 I+ xy
Yy
3 o)
y+x
4 X
X+y

108. The point of intersection of Ogive curves of data is (35, 50)
then Median of data is

EF0Fs0 B, L8 IES00 PoksS Do (35, 50)
@S & S$E0FI0 Bk, DESFHBIN

1 15
2. 35
3. 50
4 85

109. The compound interest on the sum of 8000 for 2 years at 10%
per annum compounded annually is

38000 3 10% Bexd TP DOSBYoI8 2578 5&
BEILSEY HIDT 2 HOSHT0BH ey SESG
e (ev} o

1 X 1600
2 %1620
3. X 1640
4 T 1680



110. Roots of the quadratic equation 2x’~7x+5=0

111.

112.

1.
2.
3.
4.

Real and equal
Irrational numbers
Real and unequal

Imaginary numbers

2x*—Tx+5=0 58 D88y Saceren

1.

2
3.
4

JPQTPLD BAD DITPT°L
556305 QDopgen

QTP DB BIITI LD
S8 Sopgen

The present ages of Rama and Latha are in a ratio 5:7. Four
years from now the ratio of their ages will be 3:4. Sum of their
present ages is (in years)

00, 0 © (HNS SADO JANG 5:7. 4 Jon STYS 0
SeH0 NG 314, TB (HXS IAO Jogn (don of’)

= P b=

48
56
60
72

287



113.

114.

115.

Angle between the tangents PA and PB drawn from the
external point P to circle with center O and ZPOA = 40° is

‘0’ SolgSor Ko 5)3n08 erimg Hothy P ol PA 55805

PB &3 Bo @6?}8@03 ﬁoﬁoa)cz'cgooo. /POA =4(°
90003 éo)dg'c?aa@ eSS §%0

l. 80°
2. 90°
3. 100°
4. 180°

The cost price of a book is ¥200. Shopkeeper raised 20% and
gave a discount of 10%. The profit percent he got is

28 PREO §F) 3o 2200. o5eacrsdres> 20% Deadsd oD
oI 10% B30 §R, 0SS ITY) vl TS0

1 30
2. 15
3. 16
4. 8

‘Mathematics is the science that draws conclusions’
is stated by

1. Benjamin Pierce

2. Aristotle

3. John Locke

4. Auguste Comte

SIHES STFIFT O™ &22r0T IS0 Kedo” el

5330)263"63
1. BoRdHS %53
2. @8@5&35

3. oS er§

4. 3K S0
o o



116.

117.

‘Films and Television’ are in this level from the bottom of
Edgar Dale’s Cone of Experience

%6 BE wPs FowPS” Vosdgren, BOIuS $ocs
5008 ) 3;033658 &08300.

O N D W

1.
2.
3.
4.

‘The leaner classifies polynomial based on the degree of
polynomial’. This belongs to following academic standard.

1. Problem-solving

2 Reasoning - Proof
3. Connection

4 Communication

23T0DE DBSIITEI0 e3PBONT @&P§‘é§oc‘.§o 23570V
$855e V&0’ @HIH 808 Ay (HIeTIE oK.

1. DRy FES

2. STETe0 THYE0 - ATHer BAHEo
3. VOGS0

4. ;5§_§°Zac5iscso



118.

119.

Honourable chairperson of Mathematics club in schools
1. Class leader

2. Class teacher

3. Maths teacher

4. Head Master

FETO] Kedds D000 (D) 58) TS wrgpen

1. BB FPABED
SEHY éi"@"go‘é&ocfo
Kedes éﬁ"@"§o‘5&od§o

SRR

B S Iergoindd

The term ‘Grade’ is derived from

1. Gradus

2. Grad

3. Grow

4. Growth

B o9& Drd8 Sareo
1. W®§5

2. (&

3.

4. S



120. Limitations of ‘problem solving method’

A)
B)
C)
D)

Takes more time
Not suitable for all topics
Teacher has to put in more efforts

Students loss self-discipline

DG 9OAYE DS BBWEoe

A)
B)
©)
D)

1
2.
3.
4

DE)S HIANO BK0e0d

oJ) 85O ©IISH
EIETEOINE IS KA BA.
orgien oD (EHBgE S a.
A,B,D

A,B,C

B,C,D

A,C,D



121. Read the following statements and choose the correct answer.

Lol I S v e

The mass of an object is a measure of its inertia.
Heavier objects offer larger inertia.

Both A and B are incorrect

A is correct, B is incorrect

A is incorrect, B is correct

Both A and B are correct

808 g BB, VTS VIPETR) NS 0s

A:
B:

> w DN

28 3339 Book), (BIF0°8R BEEHAS FOS TH)I5).
AISLISINIRNISUIN) [OUINAS S o wc‘é@:giib T3T°5Y) €30,

A, BBo&E> 3359 509
ASBSS, BEDSE S0
ASBIE °H, B¥DSS
A, BBo&> 5359

122. When the object is at rest at height ‘h’ above the ground, its
potential energy is 10J. When it reaches to the ground, its
kinetic energy is found to be 10J. The total energy at a height

h.
—18
2

s WIHS IBRBS® &) &8 5P DoY), 2O
10J. 98 g BBSYE o K 8 10J SR T

h “
5 S &pYpen TS Ingo ¥§

1.

Ll

20J

10J
5]
0



123.  To hear a distinct echo the time interval between the original
sound and the reflected sound must be at least

RIS (FSHID AT 008, eden A $H8Aw
DOBYS (KIS S0G5g GOESODS EAO STOIEIY

1. 0.1s
2. L
16
3. 16 s
4. L
100

124. The correct statement among the following is

1. During melting and boiling process the temperature
remains constant.

2. During melting, temperature decreases and during
boiling, temperature increases.

3. During melting, temperature increases and during
boiling temperature decreases.

4. During melting and boiling, the temperature is zero.
$oBTVE’ ¥PS T¥g0

L (B52e3550, S8R (PIdcSen sdhKs ¥vHcses’
&PHS QO &oeaod.
()

2. (BAFSS (HENS” &PHSS® SKrse B0
DHOR PEDHS” &PHSSE” DEIOEL SOOI,

3. (G5 PEHS” &PHSS” DHKG, $00C50
DHOR PEHS” &PUHSS” SKEe HoLAOHD.

4. (32350, S8R (PIEcSen @Ky ¥HcseS?
SRS LeS§0.



125. The term not related to Myopia among the following is

1.
2.
3

4.

near sightedness
far point
bi-concave lens

near point

(FPREERS 9020800 (08 IS HOT DS

1.

2
3.
4

K8 Y
K8 58 Do

EDETSS Ee50
53 88 DotH

126. Mathematical form of induced emf is

(2B DéSogSTE e KedS Hro

1.
2.

3.

qvB
ilB
A¢

At
Bil
At



127. Stainless steel is an alloy of

1. Iron and Carbon

2. Iron and Manganese

3. Iron, Nickel and Chromium

4. Iron, Manganese and Copper
RORBE Qoo @B B FHL &m0

1. 3 $oBA S
F30X0 BT ITOKDD
3050, IS 30805 (%o

L

Jo052, STOXID 38050 ToHE

128. The unsaturated aliphatic hydrocarbons having one double
bond between two adjacent carbon atoms are named as

1. Alkynes
2. Alkanes
3. Alkyles
4. Alkenes

(©F D55 Ko Bok TGS EITenIo g &8 2050
Ko dOFBE TESYR0DH Ko D

1. @6&5(%
2. e
3. 36&5@3
4. ey



129. A physical change is

130.

1.
2.
3.
4.

Permanent
Temporary
Neither permanent nor temporary

Either permanent or temporary

AR CH I N

1.

e N

FTHSF058

") OEIIO

FEHSISE 570, ST HEDSH $6° 575
PHEISE B @07, O5HIO 550

The incorrect statement about atomicity of elements is

1.

4.

The no. of atoms constituting a molecule is its
atomicity.

Chlorine is a diatomic molecule.
Hydrogen is a monatomic molecule.

Sulphur is a polyatomic molecule.

SOTPOTCO DB EEE) 0200801 IO s°§§;i>o

1.

25 9N 2360)83 DESTEVHO éoasagcﬁo oty
DESee Ees.

£8S 2.8 BEDBITENE .
TEES 2.5 DE DESTENE @en).

éoo)g 2.8 250 DEITEDVE 9.



131. The element with electron configuration 2, 8, 7 is chemically
similar to that of

1. Nitrogen

2. Fluorine

3. Argon

4. Oxygen

O[T DTG0 2, 8, 7 v Ko Sorro¥0 SFahIson 8IS
DO Gotwod

1. S =S

2. FaS

3. eﬁo;\’s

4. 855‘3235

132. The pH of an acid rain is
1. Greater than 5.6
2. Less than 5.6
3. Greater than 6.5
4. Less than 6.5
B0 S0 BE), pH JeI

1L 5.6 508 25
5.6 S0& &K%
6.5 S0& JKYS

e N

6.5 S0& &K%



133.

134.

Match the following

A)  Homologous organs
B)  Analogous Organs

C)  Archeopteryx

D)  Appendix

A TeInfeles

A) X)U"&m@"m?s £9:5030T°e0
B) @053"3";535 9503070
C) eﬁab&rgé%

D) &o&sso

1) A-ii, B-iv, C-iii, D-i
2) A-iv, B-ii, C-iii, D-i
3) A-iii, B-ii, C-iv, D-i
4) A-ii, B-iv, C-i, D-iii

Connecting link
Divergent evolution
Vestigial organ

Convergent evolution

PO HEI)
DB DBeT0
9535 AS0
9DIO HOETSI0

The plant tissue that helps bending of tendrils without

breaking.

1. Chlorenchyma
2. Collenchyma
3. Aerenchyma
4. Sclerenchyma

500 HKen IBANPLHOT S0KETIE DIBHNE SY§ Seaere0

1.

W

28¢5 B0
égo?m Eeree0
JPA3VNE Berese0

CSO)c‘,é Ee323°0



135  The joint that connects the neck with head
1. Ball and socket joint
2. Pivot joint
3. Hinge joint
4. Fixed joint
D& Sos® 58D e

!—.\

208 AY) e
2. SoKsDy den
3. Sosea0cs e
4 550 8en

136. The honey bee called as “Indian bee” is
1. Apis dorsata
2. Apis florea
3. Apis cerana
4. Apis mellifera
“308058 7 ™ Heoswd BIK

1. DR &VYe
2 NS %‘;80‘55"
3 AN JT°T®

4 DD BJQ)?QG"



137. The secretions of this gland helps in neutralizing the acidity
in urethra

1. Seminal vesicles

2 Cowper’s gland

3. Prostate gland

4. Epididymis

B (H0Q G0, [Faren (HE0S” e SeQS8Ton.
1. HETrsen

2. 08 (10
3. A (Ko
4. EZWD

138. Find the correct statement about insectivorous plants
1. They are heterotrophs.
2. They grow in nitrogen rich soils.
3. These plants participate in photosynthesis.
4. They absorbs carbohydrates from insects body.
58 2008, 0 B0w00D OGS FEFE

1. 2 DEFAseen.
32 S|B2d) OO &8 JOOS JSHI0N.
L8 AT e $Teasy HoTrK(Eab atihysraw.

ol

32 8o 3880 $0é& TENTELD Krraw.



139.

140.

The rate of heart beat in infant of 6-12 months age is
6-12 Soo SALR) Ko EEONON NS A0S B

l. 40-60
2 60-100
3. 80-120
4 100-150

Statement (P):  In hypotonic solution exosmosis occurs
Statement (Q): In hypertonic solution endosmosis occurs

Read the above statements and choose the correct option.
1. Both P and Q are correct

2. Both P and Q are incorrect

3. P is correct Q is incorrect

4. P is incorrect Q is correct

(BS550 (P): @OYTES (5808 e STNITEI0 KD

BIE50 (Q): 90 MES|Erse0S’ WoBs|SaddSe0
BRI,

2 BIETOH SO $PS 2D)57) A oé.
. P300ci QB0 d50
P S508c30 Q3o 8:9269550

P 269550 Q @269550

Sl

P @269550 Q 269550



141. The following is not the secretory substance in plants

1. Sweat

2. Saliva

3. Hormones

4. Engymes

B0BTAS® (SE HTrgo O
[}

1. 'foDScSO

2. eTLTPR3O0

3. 586° &:60%

4. doyden

142. Find the incorrect sentence about deforestration

1. The carbondioxide levels increases.

2. Ground water level increases.

3. Increases the temperature and pollution.
4. Decreases rainfall and fertility of soil.

9835 QB YOS ©02080D VS 550
1. 962)5& eﬁgv)g o DEKIS08.
< ®
2;55°K62) wo;ﬁo%go K0
GRS HA STergo DWIHSE0®.

L

;5%@%.“90 508050 JOJSo SHyeea.



143.

144.

Entry of heavy metals like cadmium and chromium entered
into the body of fish in a polluted pond is called

1.
2.
3.
4.

Biomagnification
Bioremediation
Bioaccumulation

Biostratification

500RSHT FHHE oo $550°AS 76 105H0 500
(E° 000 S0& S ten ($38os0

1.

2
3.
4

BIE 5REBe0
BIE AA00(Bes
B SgIPRS0
— )
8% 3o5es0

The organic impurities of sewage water are

A)
©)

1
2.
3.
4

S0 HBSD 56)S S0

A)
C)
1.

Sl

Urea
Phosphorous
Aand D
Band C

A and C

B and D

evbbilolover
TS

A S08a5» D
B S08csw C
A So8as» C
B 38050 D

B)
D)

B)
D)

Nitrogen
Oils

3FeS
ATCI0



145. ‘After learning about the damage caused by plastic to the
environment, the student stopped the use of plastic’. The
Educational objective achieved by him is

1. Respond

2. Valuing

3. Organization

4. Characterization

“5’;?835 NN :ac°§:,5693‘°§)§ 5OR SR Ko00D 36@&@ R aNe]
i({g?go? TEEI0 SIJDFE” 96530 FPEODS ey 0550

1. (RIEIM(elaty
2 QI KO
3. SgHLS0
(<)
4 Bornso
(]

146. The weightage should be given to the academic standard
“asking questions and making hypothesis” in preparation of
“summative assessment” question paper is

“DOUIIETS ) Sorerg0Es” () B0 ErHE)IS”
“(©98)03E0-285e)Sen BaEo” &I oy (STerdS
RSOV LTG0

1. 10%
2. 15%
3. 20%
4. 40%



147.

148.

“The scientific method is a systematic observation, hypothesis
formulation, experimentation, testing of hypothesis,
hypothesis modification and re-experiment”. This definition
was given by

1. Oxford dictionary

2 Fitz Patrick

3. Carl popper

4 Conant

“DELE DED 08, 28 (EDaFS DO, HOKOYS
ErZroBOoHe, (HEK JBTer, DB HOF, DTS
SrE)ESE0, SO (PBrKo BEo Y JH)SY ™.
53 3?375:3":2}) 3u))8.

L esEyb agss

28 >BE

SRR

SEue

SIS

Incorrect match among the following with respect to the
branches of biology with their classification

1. Zoology — Primary branch
2. Paleontology - Applied branch
3. Agriculture Science — Related branch
4. Virology - applied branch

308 >8S” AZT(R Tpeo T $HETee worr
205 WS

I =od@(Ro - (PEDE T
2. YoEST(Ro — O30S T
3. SEErCS (R - D0208¢ P

4. RJorod — oXS0S TP



149.

150.

The most suitable teaching method to teach the concept of
“Parts of a flower” for grade 7 students is

1

2.
3.
4

Lecture Demonstration method
Individual Experiments method
Division or part method

Experiments rotation method

75 SR $w§%®§3 “?.”g)?”.qo) aeree” €950 @O%"Q}
FR0SETIS BSOS SRETODS F'ET LS.

1.

e N

GITGO (DEG)T HFD
FADEE (DBK HEA

(ov]

K)gé aJ"’?iK)CgS;’Pm DEY

@

@er HETK HES

The approach used to arrange the topics in biology curriculum
in a logical order according to their morphological
characteristics and functions.

1
2
3.
4

Structural approach
Functional approach
Synchronised approach

Cellular approach

BIT(Q FIHRETVES” WOTOR HRETD ofeTen, B
DD w28 B E (E005° ©58)5E008 W0
GIDIPA0WD GOR0

1.

L

2(356?26 30"&8’3 G0
@oﬁreﬁgﬁ GAR0
éé’b&@é GO

BEseeP0 GARD0



